



Nimi: _____

Päivämäärä: _____ Pisteet: _____

$$\left(\frac{3}{5} + \left(\frac{1}{5}\right)^2\right) \times \frac{1}{3} - \left(\frac{1}{3} - \frac{1}{5}\right)^2 =$$

$$\left(5 - \frac{1}{6}\right)^2 - \frac{1}{3} + \frac{2}{3} + 2^2 =$$

$$\left(3 - \frac{1}{6}\right)^2 + \frac{1}{6} \times 3^2 - \frac{2}{3} =$$

$$\left(\frac{1}{4} - \left(\frac{1}{5}\right)^2\right) \times \frac{1}{3} + \left(\frac{3}{4} - \frac{3}{5}\right)^2 =$$

$$\left(4 - \frac{3}{2}\right)^2 - \frac{1}{5} - \frac{1}{4} - 3^2 =$$

$$\left(\left(\frac{3}{2}\right)^2 + \frac{1}{2}\right) \times \frac{3}{2} - \left(\frac{3}{4} + \frac{1}{5}\right)^2 =$$

$$\left(3 - \frac{3}{5}\right)^2 + \frac{1}{2} \times \frac{1}{3} + 4^2 =$$

$$\left(\frac{1}{3} - \left(\frac{3}{5}\right)^2\right) \times \frac{3}{5} + \left(\frac{3}{5} + \frac{3}{5}\right)^2 =$$

$$\left(\frac{1}{3} + \left(\frac{1}{5}\right)^2\right) \times \frac{1}{4} + \left(\frac{1}{2} - \frac{1}{2}\right)^2 =$$

$$\left(\left(\frac{1}{2}\right)^2 + \frac{3}{5}\right) \times \frac{3}{4} + \left(\frac{3}{5} - \frac{1}{2}\right)^2 =$$



Nimi: _____

Päivämäärä: _____ Pisteet: _____

$$\left(\frac{3}{5} + \left(\frac{1}{5}\right)^2\right) \times \frac{1}{3} - \left(\frac{1}{3} - \frac{1}{5}\right)^2 = \frac{44}{225}$$

$$\left(5 - \frac{1}{6}\right)^2 - \frac{1}{3} + \frac{2}{3} + 2^2 = \frac{997}{36} = 27\frac{25}{36}$$

$$\left(3 - \frac{1}{6}\right)^2 + \frac{1}{6} \times 3^2 - \frac{2}{3} = \frac{319}{36} = 8\frac{31}{36}$$

$$\left(\frac{1}{4} - \left(\frac{1}{5}\right)^2\right) \times \frac{1}{3} + \left(\frac{3}{4} - \frac{3}{5}\right)^2 = \frac{37}{400}$$

$$\left(4 - \frac{3}{2}\right)^2 - \frac{1}{5} - \frac{1}{4} - 3^2 = \left(-\frac{16}{5}\right) = \left(-3\frac{1}{5}\right)$$

$$\left(\left(\frac{3}{2}\right)^2 + \frac{1}{2}\right) \times \frac{3}{2} - \left(\frac{3}{4} + \frac{1}{5}\right)^2 = \frac{1289}{400} = 3\frac{89}{400}$$

$$\left(3 - \frac{3}{5}\right)^2 + \frac{1}{2} \times \frac{1}{3} + 4^2 = \frac{3289}{150} = 21\frac{139}{150}$$

$$\left(\frac{1}{3} - \left(\frac{3}{5}\right)^2\right) \times \frac{3}{5} + \left(\frac{3}{5} + \frac{3}{5}\right)^2 = \frac{178}{125} = 1\frac{53}{125}$$

$$\left(\frac{1}{3} + \left(\frac{1}{5}\right)^2\right) \times \frac{1}{4} + \left(\frac{1}{2} - \frac{1}{2}\right)^2 = \frac{7}{75}$$

$$\left(\left(\frac{1}{2}\right)^2 + \frac{3}{5}\right) \times \frac{3}{4} + \left(\frac{3}{5} - \frac{1}{2}\right)^2 = \frac{259}{400}$$